000037

20T - 8102

1202 - 8102 VHEREd ViSnaosy
<_¢m-0ww._. JAVTIVT 30 OIDVNSS
VT 20 ZNXOVYIA
v130 01ovNg, - Visi
30 ZNYovy3A IVdIDINNN TYNCIONLLSHOS VANIIOVH 3a ¥OdID3y
] . .
._<zoaﬁm_$z - IGO0 Z3IN OINSIVIFHWNGIH OQYANOD T3SVA NIASI D
thw—.w&<x_.23>< H \}\ll/\ &.&\.ﬂ “Hm‘dn §
oy ( Pt (47
R ; : =z
.”Q A% Aﬂu.mr. g
v.a 2 S.HWMVO
N oA
s Baiamd
W o s 120Z - 8L0Z
OOINN ODIANIS VIONIRSBHehin 31NIqISTHd
AL
waIg q 3V Mow oanyiveg4 0
- B =2v141
20z - 910 YISt
OGOl TYNOIONLULSNOD
: OLNIIWYINNAY H.
TS
N - » o4
3 =
~ z —
‘Lee’ ; : . gt
16°080°1£6'6E$ LE°009° ) 7~ # 868'161$ 6L2£0'0£8°1£2$ ov'615°088°'26% OAILDV 130 Tv10L
00°0% 00°0% .\..QQOQ o V‘\V 05 00'0% 000% S$8JUBINDJID OU SOAIDY SO0
00'0$ 00°0$ - 00°0% 000% 00°0% S8jUBINOJI) OU SOAOY 8p 0Jols}eQ O BpIpJad Jod ugioewiS]
00'000'c$- 00'0% 00°000'c$ 00°0% 00°000'c$ SOplBJIg SOANDY
00'0$ 06'89v'71L9'e$- 000$ 00°0% 06'89F'71L9'e$- saualg ap epe|NWNoY UooeZIowy A oJousjeq ‘ugloelnaideq
00°0% 00°0% 000$ 00°0$ 000$ se|qibueju| soAnoy|
€1L°LOE'96'CS GZ'109'926'61$ 00°0% €1'10€'9v6'2$ Z1'00£'086'0L$ S9|geniA sausig
LP'G96'9EL'ELS L'0vL'0L£'28% 000$ LP'S96'9EL'ELS 00'G2.'€€2'69% 0S800Jd UB $8U0I00NIISU0D A BINoNIsaeJyu| ‘s9jganwiul saualg
59'228'cL$ G5'925'L/$ 00°0% §9'ze8'els 06'€02'25% oze|d obJe e sejus|eAinb3 0 0A08)3 JIqIo8y B soyoasag
£6'€0V'0vES 8/'690'226'L$ YL'€0E'rPe' LS £0°20L'v85'L$ G8'G99'18G'L$ oze|d obJe7 e seJafouBUl4 SBUOISIBAU|
ZLeer'veEr'oLs 60°69¥'929°001L$ vL'eoc'Lye’LS 92'96.°189°2L$ 16°S26°LYZ'v8$ FLNYTINDUIO ON OAILDY
000$ 000% 000$ 00°0% 000% $8jUBINJIY SOAOY SOI0
00'0% 00°0% 00°0% 00°0% 00°0% $8JUBINOIIY SOAOY 8p 0JolB}eQ O BPIPJad Jod ugioewns3
000$ 00°0% 000% 000% 000% sausdew|y
00°0% 00°0% 00°0% 000% 000% SOlBJUBAU|
1€'506'/v2'c$ GE'509'/vZ'eS 61'9€6'2/£'2$ 9G°Lyp'G29'6S 86'66$ SOIDIAJeS O sauslg JIqIoay B soydaleq
S0'89L'20L'E$ 10'922'¢68'0L% 1Z¥EL'922'56% 2€'20£'€88'86% 96°/09'982'/$ S8jUs|eAINDT 0 0ANOB)T JIqI0Y B Soydasag
ervLe'LrL /LS 26'612'€66'LLS 29'115'16Y¥'26% 50'Z67'6£9'601L$ 67'G£8'158% sajus|eAinb3 A oAde)3
$8°285°96V'€Z$ 8z’ LEL'SELZES 80°8Y9'L59°061$ £6°6e2'8vL'vLzS £h'eps 8£9'8S JLNVYINOYIO OAILDY
OAILOV
(1-9) (e-z+1)=t € ; z L 03d2ou09
opouad |9p ugideLEA jeul4 opjes opouad |9p Souoqy  opouad |op sobien {e1diu) opjes :

HAAVWDIS

8LOZ PP oNnr 3p Lg |e osdu3z 8p | |12
OARDY |9p 0d1ljeuy opejs3
V7SI 30 OIdIDINNIN




	Page 1

